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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level 
Sociology, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus 
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance 
of the mark scheme.

In this booklet, candidate responses have been chosen from the June 2024 exam series to exemplify a range of 
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or 
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes 
and guidance for candidates for each question.

Please refer to the June 2024 Examiner Report for further details and guidance.

The mark scheme is available on the School Support Hub

Introduction

Past exam resources and other teaching and learning resources are available on the School Support Hub

9699 June 2024 Question Paper 12

9699 June 2024 Mark Scheme 12

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support
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How the candidate could improve their answer
Two clear developed points describing the term were needed to obtain full marks. In this answer, only the ‘care taker’ 
point was developed. A different second developed point such as financial support was required.

       An identification mark 
is awarded for ‘being a 
grandparent’ but the description 
does not develop the point, so 
only 1 mark is awarded.

       An identification mark is 
awarded for ‘care takers’ and, 
in this case, the reference to 
children is enough to show that 
the candidate understands the 
example.

Total mark awarded =
3 out of 4

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low level response for 
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner 
comments.

Example Candidate Response – high Examiner comments

1
1

Common mistakes and guidance for candidates
•	 Candidates are only required to describe in this question, there is no need to explain or define the term.
•	 Responses to this question do not require great depth or any significant detail.

2
2

Examiner comments explain 
where and why marks were 

awarded. These help to interpret 
the standard of Cambridge  

exams to help learners  
refine their exam technique.

Responses are written by real candidates in 
exam conditions, demonstrating the types of answers 

for each level. These could be used to discuss and 
analyse the answers with learners in the classroom to 

improve their skills.

This section explains how the candidate 
could improve each response. It helps learners to 

improve their exam technique.

This section lists common mistakes as well 
as helpful guidance from the examiner. This will 
help your learners to avoid these mistakes. You 
can use this alongside the relevant Examiner 

Report to guide your learners.
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Question 1

Example Candidate Response – high Examiner comments

       An identification mark is 
awarded for ‘being a grandparent’ 
but the description does not 
develop the point, so only 1 mark is 
awarded.

       An identification mark is 
awarded for ‘care takers’ and, in this 
case, the reference to children is 
enough to show that the candidate 
understands the example.

Total mark awarded =
3 out of 4

1

2

1

2

Example Candidate Response – middle Examiner comments

       An identification mark is 
awarded for ‘taken care of’ (implying 
dependency) but there is no 
description.

       An identification mark 
is awarded for ‘in charge of 
households’ but there is insufficient 
description for a second mark.

Total mark awarded =
2 out of 4

1

2

1

2

How the candidate could improve their answer
Two clear developed points describing the term were needed to obtain full marks. In this answer, only the ‘care taker’ 
point was developed. A different second developed point such as financial support was required.

How the candidate could improve their answer
Two clear descriptions that developed the identification points were needed to obtain full marks. For example, the first 
point could have shown what form care might take or who might perform the role. In this case, they were absent.
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Example Candidate Response – low Examiner comments

       An identification mark is 
awarded for ‘they don’t contribute to 
society’ but there is no description. 
For example, the candidate could 
have pointed to the elderly being 
economically inactive.

       The identification refers to 
the elderly as a ‘burden’ but this is 
deemed to be a repetition of the 
first point and does not receive any 
marks.

Total mark awarded =
1 out of 4

1

2

1

2

How the candidate could improve their answer
The candidate needed to ensure that there was no overlap between the points given.

Common mistakes and guidance for candidates
•	 Candidates are only required to describe in this question, there is no need to explain or define the term.
•	 Responses to this question do not require great depth or any significant detail.
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Question 2(a)

Example Candidate Response – high Examiner comments

       The candidate identifies the 
first reason ‘positivists favour 
questionnaires as they can be 
replicated’ and explains in terms of 
how they facilitate ‘easy comparison 
and rechecking’.

       The candidate selects relevant 
sociological material ‘reliable’ but 
it is not used to explain how it 
supports the original point.

       The candidate clearly identifies 
and explains the second reason 
‘close-ended/pre-coded’ by stating 
that this method allows ‘abstract 
ideas to be operationalised and 
quantified’.

       The candidate selects relevant 
sociological material ‘objectivity’ 
and uses this to support the original 
point effectively.

Total mark awarded = 
7 out of 8

4

3

1

2

How the candidate could improve their answer
•	 The candidate should have ensured the selected relevant sociological material provided supported the original 

point to secure the fourth part mark.
•	 The candidate could have explained that another researcher would have been able to gain the same results if they 

had repeated the research at a different time.

4

3

1

2
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Example Candidate Response – middle Examiner comments

       The candidate correctly 
identifies ‘done without researcher 
presence’ as a reason and explains 
this as meaning there will be no 
bias. There is no sociological 
material selected for this reason, so 
only 2 marks out of the available 4 
marks are awarded.

       The candidate correctly 
identifies ‘quantitative’ as a reason 
and explains this well in terms 
of being ‘easy to replicate’. The 
candidate selects 'reliable' as 
relevant sociological material, 
but this is not used to explain the 
original point.

Total mark awarded = 
5 out of 8

1

2

1

2

How the candidate could improve their answer
The response was a little too brief and needed a greater depth of explanation with regard to choice and use of relevant 
sociological material.
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Example Candidate Response – low Examiner comments

       The candidate accurately 
identifies the first reason 
‘quantitative data’ and explains ‘can 
be analysed and compared’ well.

       The reference to ‘Likert scales’ 
qualifies as relevant sociological 
evidence but the candidate makes 
no attempt to link this back to the 
original point.

       The second point made ‘large 
scale’ is not credited as there is 
no linkage to positivism. In other 
words, the response focuses on 
questionnaires alone. The reference 
to ‘allocated budget’ is also deemed 
to be too vague. No marks are 
awarded.

Total mark awarded = 
3 out of 8

1

2

1

2

How the candidate could improve their answer
The question specifically asked for reasons that positivists would use. The answer was insufficient on this aspect 
which is why it did not receive credit for the second reason.

33

Common mistakes and guidance for candidates
•	 Candidates do not always clearly explain two separate reasons.
•	 Candidates often do not explain the concepts used in their answer or simply repeat the same point in both 

explanations.
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Question 2(b)

Example Candidate Response – high Examiner comments

       The candidate gives all three 
elements for the first limitation so all 
available marks are awarded. The 
candidate gives ‘lack of reliability’ as 
the first limitation.

       The candidate then explains 
why this method has this limitation – 
it ‘cannot control variables’.

       The candidate then explains 
why this is a limitation ‘unlikely to be 
repeatable’.

       The candidate correctly 
identifies ‘ethical concerns’ for the 
second limitation.

       The candidate explans why 
field experiments have the limitation 
‘consent not given’, but they do 
not go on to explain why this is a 
limitation.

Total mark awarded =
5 out of 6

1

2

3

1

2

3

4

4

5

5

How the candidate could improve their answer
This was a good response but was not awarded full marks because the second limitation did not explain why ethical 
issues were a limitation of this method, for example, by outlining how lack of consent may have potentially resulted in 
the psychological harm of participants.
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Example Candidate Response – middle Examiner comments

       The candidate discusses 
practical issues at the beginning 
of the answer ‘funding, time’ but 
these are not deemed relevant as 
the limitation is not made specific to 
field experiments.

       The candidate states an 
accurate limitation ‘can’t always 
be a fully controlled environment’ 
but there is no further explanation 
provided.

       The candidate explains the 
second limitation ‘ethical issues’ by 
showing why this method has the 
limitation ‘issue of consent’ but the 
remainder of the response is not 
directly linked to field experiments 
or the limitation.

Total mark awarded = 
3 out of 6

1

2

3

1

2

3

How the candidate could improve their answer
•	 The candidate provided two accurate limitations, but neither were fully developed. For each identification made, 

two further points were required in order to be awarded full marks.
•	 For the first point, the candidate needs to explain that this happens in a natural setting so, unlike a laboratory, the 

variables cannot be controlled.
•	 The candidate then needed to explain that this may affect/decrease the validity of the findings.
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Example Candidate Response – low Examiner comments

       An introduction is unnecessary 
for this question. 

       The candidate raises points 
that are not specific to field 
experiments so no credit is given for 
this section.

       The candidate does not explain 
why ‘breaking ethical guidelines’ is 
a correct limitation, so only 1 mark 
is awarded.

Total mark awarded = 
1 out of 6

1

2

3

1

2

3

How the candidate could improve their answer
•	 The candidate used a general point about funding but this would need to have been made relevant to the method 

in question for it to be rewarded.
•	 In the identified point, the candidate mentioned ‘validity’ and this could have been developed but greater clarity was 

needed as to how this might have related to the question.

Common mistakes and guidance for candidates
•	 Responses did not follow all three steps of the rubric as set out in the mark scheme, i.e. identify and explain a 

limitation or strength, explain why the given method has this limitation or strength and then why it is a limitation or 
strength.

•	 There was also a common tendency for candidates to mix points together using the same material to support each 
limitation or strength.
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Question 3(a)

Example Candidate Response – high Examiner comments

       The candidate explains the 
first point in terms of ‘inadequate 
socialisation’ and uses sociological 
material to support this ‘cultural 
capital’, ‘Bourdieu’.

       The candidate’s point is 
fully developed by showing with 
examples how this may result in 
deviant behaviour.

       The candidate’s second point 
directly focuses on social class, in 
particular, the view that working 
class culture places little importance 
on education, instead focusing on 
‘immediate gratification’.

       The candidate fully develops 
a link made to Murray’s view that a 
class-based identity that does not 
value work and employment may 
encourage deviant behaviour.

Total mark awarded =
10 out of 10

1

2

3

1

2

3

4 4

How the candidate could improve their answer
The answer contained two clear and fully developed points with good knowledge and understanding of the view. The 
sociological material used was appropriate and fully focused on the question.
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Example Candidate Response – middle Examiner comments

       The candidate supports this 
near the beginning of the answer 
with the references to Sugarman 
and ‘immediate gratification’, and 
then develops this through a link 
made to deviance via ‘petty theft’.

       Although the candidate puts 
forward their second idea at the 
end of the page, in fact, it is the first 
clear point they make that explains 
the view ‘working class individuals 
are socialised to stay loyal’.

       The second point explains 
the view in terms of the concept of 
‘underclass’.

       The candidate shows how this 
might contribute to a value system 
that results in deviant behaviour, but 
this is underdeveloped.

Total mark awarded =
6 out of 10

1

2

3

4

1

2

3

4

How the candidate could improve their answer
The answer contained one clear and developed point and one relevant but underdeveloped point. A clearer link in the 
second point to the how cultural deprivation can cause deviant behaviour could have been made.
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Example Candidate Response – low Examiner comments

       The candidate does not directly 
focus on the question and the first 
part of this answer is general.

       The candidate makes a clear 
point regarding the lack of ‘social 
and cultural capital’ as well as 
material resources experienced by 
some groups.

       The candidate presents 
relevant sociological material 
in this section, but the point is 
underdeveloped in relation to 
deviance.

       This section is general and 
lacks relevance to the question.

1

2

3

4

1

2

3

4
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Example Candidate Response – low, continued Examiner comments

       The candidate’s point has a 
more direct focus on parenting 
styles between class groups 
(King and Raynor) and the social 
resources available to them.

       The candidate’s original point 
is underdeveloped in relation to 
deviant behaviour with some less 
relevant material and only a brief 
reference to it at the end of the 
question.

Total mark awarded =
4 out of 10

5

6

5

6
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How the candidate could improve their answer
The response was good in terms of one aspect of the view (cultural deprivation) and contained some good use of 
sociological material, but it lacked development in relation to the second aspect of the question, deviant behaviour, 
which limited the marks it could be awarded.

Common mistakes and guidance for candidates
•	 Often candidates did not provide two clear and developed points. If two clearly developed points were made with 

good reference to concepts, theories and evidence that were directed towards the question, a response could 
achieve 10 marks.

•	 Responses often lacked sufficient use of relevant sociological material.
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Question 3(b)

Example Candidate Response – high Examiner comments

       The candidate identifies biology 
as an argument against the view.

       The candidate supports 
the point by reference to some 
sociological material (Lombroso) 
and the idea that there may be a 
biological component in explaining 
deviant behaviour.

       The candidate makes a weak 
connection to the argument being 
countered ‘cultural deprivation’ 
which just elevates the response 
into Level three.

Total mark awarded =
5 out of 6

1

2

3

1

2

3

How the candidate could improve their answer
The answer contained one clear point against the view in the question with appropriate supporting evidence. More 
development of the view that biology is more important than cultural deprivation would be needed for full marks.
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Example Candidate Response – middle Examiner comments

       The candidate identifies 
education as a contrary source of 
deviance.

       The candidate outlines this 
in terms of the role played by 
teacher expectations and sanctions 
resulting in ‘demotivation’ and ‘rebel’ 
students.

       The candidate shows how this 
might contribute to a value system 
that results in deviant behaviour, but 
this is underdeveloped.

Total mark awarded = 
3 out of 6

1

2

3

1

2

3

How the candidate could improve their answer
The answer contained one clear but underdeveloped point. The sociological material used was appropriate but 
its relevance to the argument was not made clear. The argument put forward needed to outline the connection to 
deviance and make a link back to cultural deprivation.
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Example Candidate Response – low Examiner comments

       There is little to reward in this 
answer except the rather vague 
assertion at the end that a lack of 
norms and values leads to deviance 
in the form of ‘acts of rebellion’.

Total mark awarded =
1 out of 6

1 1

How the candidate could improve their answer
•	 The answer contained a point disagreeing with the view but it was not clear and there is no sociological material or 

development.
•	 The response was more appropriate to Q3(a) than to Q3(b).

Common mistakes and guidance for candidates
•	 Many responses give more than one argument in their answer. Only one argument can be rewarded. 
•	 Points made did not always link back to the focus of the question, which means a response is lacking development 

and cannot enter the top level.
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Question 4

Example Candidate Response – high Examiner comments

       The candidate shows how 
peers exert control over each other 
by exercising informal sanctions in 
subcultural settings. The point is 
supported by the use of concepts 
and studies (Willis) earning AO1 
and AO2 marks.

11
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Example Candidate Response – high, continued Examiner comments

       The candidate uses a brief 
evaluation of the first point using the 
cited study (Willis) to suggest that 
their ‘resentment’ for education is a 
greater influence than peers (AO3).

       The candidate centres on the 
role of media in influencing identity, 
making the argument against the 
view that it is the most important 
agent (AO3). The candidate makes 
good use of sociological material 
that is well interpreted in terms of 
the question. The final sentence 
makes a link back to the question 
but could have been more sharply 
focused on it.

       The argument supporting 
the view in this paragraph is 
well developed and effective. 
The candidate uses a study to 
demonstrate the role played by 
peers in supporting each other 
and this is linked to identity. All of 
the material is directly focused on 
the question (AO1 and AO2). The 
final sentence provides a point of 
evaluation but it is undeveloped.

2

3

2

3

4 4
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Example Candidate Response – high, continued Examiner comments

       The approach again is to take 
a different agent (education) and 
unpack its impact on identity. This 
is done with reference to a range 
of studies and concepts. The 
candidate’s argument is not as 
well linked to peers or identity as 
previously shown.

       The last point briefly looks 
at the role of ‘cultural comfort’ in 
forging peer identity in an ethnic 
context but it is not fully developed.

Mark for AO1 = 7 out of 8
Mark for AO2 = 8 out of 8
Mark for AO3 = 7 out of 10

Total mark awarded =
22 out of 26

5

6

5

6

How the candidate could improve their answer
A very good response that was awarded high marks across the range of assessment objectives. The evaluative 
points, whilst valid, could have been more fully developed.
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Example Candidate Response – middle Examiner comments

       The candidate makes a good 
opening point supporting the view 
that links gender identity to the role 
played by peer pressure. There is 
also a relevant supporting study. An 
effective, developed AO1 and AO2 
point.

1 1
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Example Candidate Response – middle, continued Examiner comments

       The candidate makes two 
further supporting points (one on 
the contribution of peers to learning 
‘Western values’ and a second that 
links the role played by education 
as a setting for peer identity) but 
both are undeveloped in terms of 
AO1 and AO2.

       A more effective point 
supporting the view about work 
peers and their influence on the 
formation of political views and 
social class identity but it is still 
sociologically underdeveloped.

       A juxtaposed evaluation 
(AO3) point reviewing the 
family’s influence on identity as 
an alternative agent to peers, 
but there is no reference made 
to the question, which makes it 
undeveloped.

4

2

3

4

2

3
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Example Candidate Response – middle, continued Examiner comments

       This evaluation point (AO3) is 
distinct from the family one – the 
role of biology/nature – but it also 
makes no direct link to the question.

       An evaluation (AO3) point 
reviewing the media’s influence on 
identity as an alternative to peers, 
but it does not return to the question 
and whether or not these agents 
exert more or less influence than 
peers. This approach limits the 
AO3 marks available to 3 marks out 
of a possible 10 marks as all are 
undeveloped.

Mark for AO1 = 6 out of 8
Mark for AO2 = 6 out of 8
Mark for AO3 = 3 out of 10

Total mark awarded =
15 out of 26

5

6

5

6

How the candidate could improve their answer
A range of points were made in support of the view but only one of these (linking gender identity and peer pressure) 
was fully developed. In terms of evaluation, the candidate listed some points that may have been relevant but these 
needed to be clearly linked to the question and further developed.
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Example Candidate Response – low Examiner comments

       The candidate makes an 
undeveloped point supporting the 
view that links peers with gender 
identity. This gains limited AO1 
marks.

       An evaluation point (AO3) 
contrasting family with peers. There 
is some focus on the question but it 
is underdeveloped.

       A confused undeveloped point 
supporting the view that conflates 
peers and education.

       In this paragraph, the candidate 
identifies the workplace as an 
alternative setting for class identity 
formation. Not enough is said about 
the peer element which makes 
this an underdeveloped evaluation 
point.

1

2

3

4

1

2

3

4
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Example Candidate Response – low Examiner comments

       The candidate attempts to 
make a link between peers and age, 
but no argument is put forward.

Mark for AO1 = 2 out of 8
Mark for AO2 = 2 out of 8
Mark for AO3 = 5 out of 10

Total mark awarded =
9 out of 26

5 5

How the candidate could improve their answer
The supporting arguments lacked any real range or depth. With evaluation, there was a little more substance to the 
points put forward but greater development needed to be made.

Common mistakes and guidance for candidates
•	 In identity based questions, candidates often take a general approach focusing on an institution/agent but with little 

or no specific reference to the impact it may have upon identity.
•	 Similarly, evaluation often poses alternative agents as being more or less important and this approach is often 

juxtaposed leading to underdeveloped points.
•	 Linking evaluative points to the view in the question would make the evaluation more explicit as it will show how the 

counter argument disagrees with the view in the question.
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